Math 130 Prereqs Hand In. Name: A csSwen

Review the material on the previous pages as needed. You may wish to consult Appendix A and Chapter 1 of your text.

1. Simplify and factor completely: (z +3)?> —4(zx +3). = (9( ,\_3) E(X 2 — 4“}\
= (X+2) (= 1\ )

2. Notation and Piecewise Functions. (See pages 14-15, Examples 3 and 4.) Define

f) = {m+2 ifz <1,

2¢ —4 ifzx>1.

Evaluate the following:

a) fB)= a>)-4 = 2

b) f(-6)= —G4+2 = — 4

g f= 20D -4 = -2

d) f0.9)= .4412 = 2.44

0 f6M= 4 (o+2) = £(2)= 2(2) -4 =

f) Draw a graph of f(z) on the axes below.




The next problems are in the text. Show your work.

3. Page 10 #32 (see Page 6, Example 9)

o =

}(24/!“}‘-6———&(;) - (@H"f”“)”(f"4’) (A4 L\-»L\?’»“'j‘ 0

N

4. Page 11 #80. (See page 8 Example 11. Try #79 that has answers in the back.)
A) Evé

B) Obn

©) obvn

5. Page 22 #20. Your answer should be similar in form to the function in Problem 2 of this assignment.

%+\) &J%- X &P
flz) = ‘
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Work, if needed.



6. a) According to the bottom of page 32,
v
y = log, z if and only if b? = X

b) Now do page 36 #42.
! = - -1
OﬁSX q , S0 572 x s X o= VYs

7. Give the exact value (no decimals) for each of these trig and inverse trig functions. (See pages 40 and 44.)

W sin()= 3,
b) cos(P= g

0 tan(f= 3
@ sl = T
0 s} = T,

8. Complete the table, where each row describes the same interval. (See page 1152.)

Interval Notation | Set Notation (Inequalities) | Number Line Graph of the Interval
(—o0, —4] ix Lo < -4 Lttt ;_w?*’_______
(-2, 0) Cxs —22w<o A 7

E3) “/Z.j {-731 3S$S%} g = T‘/p_,
(-1,7) (% =\ <xey ey

9. a) According to “Properties of the Absolute Value” in Appendix A page 1153: |z| < a means the same thing as:

- b {x a
b) Use the property above to solve |2z — 4| < 6.

50
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10. These are both optional Extra Credit.
a) Page 22 #38 (see Example 6 in the text).
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b) Page 49 #98. You will need to use a calculator. Hint: Be sure to convert all measurements to feet! Let P denote
the point where the line BA meets the z-axis (end line). Determine angle /G, AG5 as the difference between
angles /G1 AP and /G2 AP by using the arctan function. Similarly for /G, BG,. What do you find? Give your
answer in radians!
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